
quadratic formula 

x2 – 10x + 24 = 0 PLUG IT IN ANSWER

3x2 – 4 = x 
PLUG IT IN ANSWER

8x2 + 14x = -3 PLUG IT IN ANSWER

x2 + 4 = 7x – 3 PLUG IT IN ANSWER

2x2 = 3x + 23 PLUG IT IN ANSWER
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name: 

Cut and paste the boxes and place them next to the correct problem.   
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x2 + 4x – 6 = 0 PLUG IT IN ANSWER

x2 + 7x = 16
PLUG IT IN ANSWER

6x2 + 40 = -31x 
PLUG IT IN ANSWER

x2 + 6x = -2 
PLUG IT IN ANSWER

x2 – 8x + 5 = 0 
PLUG IT IN ANSWER
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a B C

D E F

G H I

J K L

M N O

x = 10 ± (-10)2 – 4(1)(24)
2(1) 

x = 1 ± (-1)2 – 4(3)(-4)
2(3) 

x = 7 ± (-7)2 – 4(1)(7)
2(1) 

x = -4 ± (4)2 – 4(1)(-6)
2(1) 

x = -7 ± (7)2 – 4(1)(-16)
2(1) 

x = -31 ± (31)2 – 4(6)(40)
2(6) 

x = 8 ± (-8)2 – 4(1)(5)
2(1) 

x = -7 ± 113
2 

x = -5,  -8
2 3

x = -1,  4
3

x = 4, 6 x = 4 ± 11

x = -3 ± 7 x = 7 ± 21 
2 

x = 3 ± 193 
4



P Q R

S T

x = -14 ± (14)2 – 4(8)(3)
2(8) 

x = 3 ± (-3)2 – 4(2)(-23)
2(2) 

x = -6 ± (6)2 – 4(1)(2)
2(1) 

x = -1, -3
4 2

x = -2 ± 10


